

$${}^N\blacktriangleleft M = \{N \xrightarrow[\text{surj}]{\gamma} M\}$$

$$\# {}^N\blacktriangleleft M = \sum_j^{0|M} (-1)^{M-j} \begin{bmatrix} M \\ j \end{bmatrix} j^{\bar{N}}$$

$$A = {}^N\triangleleft M: \quad \gamma \in {}^N\triangleleft M \Rightarrow \text{Eig } \gamma = {}^N\gamma \subset M$$

$$S \subset M$$

$$\underbrace{{}^N\triangleleft M}_S^{\subset} = \frac{\gamma \in {}^N\triangleleft M}{\text{Eig } \gamma \subset S} = \frac{\gamma \in {}^N\triangleleft M}{{}^N\gamma \subset S} = {}^N\triangleleft S \Rightarrow \# \underbrace{{}^N\triangleleft M}_S^{\subset} = \# {}^N\triangleleft S = |S|^N$$

$$\underbrace{{}^N\triangleleft M}_S^{\subset} = \frac{\gamma \in {}^N\triangleleft M}{\text{Eig } \gamma = S} = \frac{\gamma \in {}^N\triangleleft M}{{}^N\gamma = S} = {}^N\blacktriangleleft S$$

$$\underbrace{{}^N\triangleleft M}_T^{\subset} = \bigcup_{S \subset T} \underbrace{{}^N\triangleleft M}_S^{\subset} \stackrel{\text{Sieb}}{\Rightarrow} \# \underbrace{{}^N\triangleleft M}_T^{\subset} = \sum_{S \subset T} (-1)^{T \setminus S} \# \underbrace{{}^N\triangleleft M}_S^{\subset}$$

$$\# {}^N\blacktriangleleft M = \# \underbrace{{}^N\triangleleft M}_M^{\subset} = \sum_S (-1)^{M \setminus S} \# \underbrace{{}^N\triangleleft M}_S^{\subset} = \sum_S (-1)^{M \setminus S} |S|^N = \sum_j^{0|M} (-1)^{M-j} j^N \sum_{|S|=j} 1 = \text{ RHS}$$